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XF = ma for each block gives Ws — T =msa and T — f = myoa. Adding the two equations gives

c
W — = (ms + myo)a, or a =2 m/s’
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b. Ty is in internal system force and will cancel in combined equations. Using IF externat = Mo gives
T, —m;g—m,g = (m; +m,)a, solving yields T, = 6600 N. Now using F = ma for the load gives
Ty —-myg=myaand T; =6000 N
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b. f=uN where N =m;g cos 6 gives u = s

c. constant velocity means IF = 0 where TF gyemy = m; g Sind + myg sin 6 —f— 2f— Mg =0
solving for M gives M = (m; + my,) sin 6 — (3/)/g

Applying Newton’s second law to block 1 gives F = m, g sin 6 — f=m;a which gives a = g sin 6 — f/m,




